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= WO + W1 + W3

. )
) = 0.250 (m)
= 24.500 (kKN/m%)
Wo =  0.250 x  24.500 =  6.125 (kN/m?)
W1 = 0.490 (kN/m2)
W2 = 3.430 (kN/m?)
W3 = 0.000 (kN/m2)

= W0 + W1+ W2+ W3

10.045 (kN/m?)
6.615 (kN/m2)
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2.1.1
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2
(
[
2.1.2
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L = e o AN
P o
W TIEHELH &4y A e B w

TebHFIHMOEDMME o =W X b=

12mm( )
t= 12.000 (mm)
Z= 24.000 (cm®)

14.400 (cm®)

E = 550.000 (kN/cm?)
fb = 1.370 (kN/cm?)
da-= 0.300 (cm)
1) b= 100.000 (cm)
1

- ||||| |||||

R FHITR

1 = B KRE = 20 (cm)

SWX b = 10. 045
100X 100
3 6. 615
B 100X 100
W:
m
b (
W
0w’

X 100.000 =

X 100.000 =

D

0.100 (kN/cm)

0. 066 (kN/cm)

10.045 (kN/m?)
6.615 (kN/m?)

100.000 (cm)
0.100 (kN/cm)
0.066 (kN/cm)
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2.1.3
. X 1° 0.100 X 20.000°
BREIFT— AL b M= — - - = 5.022 (kN. cm)
M 5. 022
0“4\\ § b = — = = O 209 kN 2
HTIEHE o 7 21,000 (kN/cm?)
o b =0.209 (kN/cm?) fb = 1.370 (kN/cm®) --> OK
M : = 5.022 (kN.cm)
ob : = 0.209 (kN/cm?)
w : = 0.100 (kN/cm)
1: = 20.000 (cm)
Z: = 24.000 (cm®)
fb : = 1.370 (kN/cm?)
2.1.4
5 X o X 1 5 X 0.066 X 20.000°
0 max = = = 0.017 (cm)
384 X EI 384 X 550.000 X 14. 400

6 =0.017 (cm) da=0.300 (cm) --> 0K
: 0.017 (cm)

0.066 (kN/cm)
20.000 (cm)

550.000 (kN/cm?)
14.400 (cm®)
0.300 (cm)

(o]
€ (o]
QO w= [T == -
N
1 I O | R S N I 1
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2.2
2.2.1

2.2.2

2.2.3

60x 2.3
Z= 9.440 (cm®)
A= 5.172 (cm?)
2 1 = 28.300 (cm*)
E = 20600.000 (kN/cm?)

2.000

F
1

fb = 16.300 (kN/cm?)
fs = 9.300 (kN/cm?)
0a-= 0.300 (cm)
1
HofME o

1 = K5IHEME = 120 (cm) ’

e e e gt ~ _10.045 ~
W FTER Oy A B o =WXb = 00X 100 X 20.000 =  0.020 (kN/cm)
- 6. 615
OB EHEHOENAAME o =W X b= ———— X 20.000 =  0.013 (kN/cm)
100X 100
W : = 10.045 (kN/m?)
W = 6.615 (kN/m?)
b : ( ) = 20.000 (cm)
w : = 0.020 (kN/cm)
w' o = 0.013 (kN/cm)
BREFE—AL b M= — ;( I 0.020 XSIZO' 000" _ 36. 162 (kN. cm)
. M 36.162
IS ob = = o0 - 3.831 (kN/cm?)

ob =3.831 (kN/cm?)  fb = 16.300 (kN/cm?) --> OK

M : = 36.162 (kN.cm)
ob: = 3.831 (kN/cm?)
w : = 0.020 (kN/cm)
I : = 120.000 (cm)
Z: = 9.440 (cm®)
fb : = 16.300 (kN/cm?)
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2.2.4

2.2.5

1.205 (kN)

0.466 (kN/cm?)

--> 0K

= 120.
= 20600.
= 28.

Bt i Q = ® ;< 1 _ 0. 020 Z 120. 000 _
o ok X Q2,000 X 1.205 _
TAWIEHE < A = = 172 =
T = 0.466 (kN/cm?) fs = 9.300 (kN/cm?)
T
Q :
o -
1 :
K :
A :
fs
5 X o Xx 1 5 X 0.013 X 120.000
0 max = = = 0.061 (cm)
384 X EI 384 X 20600.000 X 28. 300
& =0.061 (cm) & a=0.300 (cm) --> 0K
5 -
0’
I :
E :
| 2
da

0.466 (kN/cm?)
.205 (kN)
0.020 (kN/cm)
.000 (cm)
.000

172 (cm?)
.300 (kN/cm?)

.061 (cm)
.013 (kN/cm)

000 (cm)
000 (kN/cm?)
300 (cm*)

.300 (cm)
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2.3
2.3.1

2.3.2

2.3.3

100x 100x 3.2

Z= 37.500 (cm®)
A= 12.130 (cm?)
2 1 = 187.000 (cm*)
E = 20600.000 (kN/cm?)
K = 2.000
fb = 16.300 (kN/cm?)
fs = 9.300 (kN/cm?)
0a-= 0.300 (cm)
1
E i

1 = FAERIRE = 135 (cm)

TR O 5 Sy ATy

g
I
=
X
=p
I

At EAOESMAWE o =W X b=

o X 17 0.121 X 135.000°

10. 045

100 X 100

6.615

100 X 100

BoRfiFE—AL N M= =

8 8

M 274,605
FIEAE ob= — = — 2 = 7,323 (kN/cnt
HIFIIE o 7 37.500 (N/en)

ob =7.323 (kN/cn?) b = 16.300 (kN/cm?)

Mo
ob:
w :
1 :
Z :
b :

X

X

120.

120.

000 = 0.121 (kN/cm)

000 = 0.079 (kN/cm)
= 10.045 (kN/m?)
= 6.615 (kN/m?)
= 120.000 (cm)

0.121 (kN/cm)
0.079 (kN/cm)

= 274.605 (kN. cm)

--> 0K

= 274.605 (kN.cm)
= 7.323 (kN/cm?)
= 0.121 (kN/cm)
= 135.000 (cm)
= 37.500 (cm?®)
= 16.300 (kN/cm?)

FORUMS8




2.3.4
x 1 0.121 X 135.000
mREAWS Q= @ 5 = 5 = 8. 136 (kN)
% 9000 X 8 136
EAMEE o= — - C RN = 1,342 (kN/cmd)

T = 1.342 (kN/cm?) fs = 9.300 (kN/cm?) --> OK

T = 1.342 (kN/cm?)
Q : = 8.136 (kN)

w : = 0.121 (kN/cm)
1 : = 135.000 (cm)

K = = 2.000

A : = 12.130 (cm?)

fs : = 9.300 (kN/cm?)

2.3.5
5 X o Xx 1 5 X 0.079 X 135.000
0 max = = = 0.089 (cm)
384 X EI 384 X 20600.000 X 187.000

& =0.089 (cn) &a=0.300 (cm) -->OK

o : = 0.089 (cm)
w' = 0.079 (kN/cm)
I : = 135.000 (cm)
E : = 20600.000 (kN/cm?)
l: 2 = 187.000 (cm*)
da: = 0.300 (cm)
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2.4

PS40-1
Pa=  19.600 (kN)
X )(em) x

A X

16.273 (kN)  Pa = 19.600 (kN)

(Y )(cm) = (135.000/100) x (120.000/100)

1.620 (n?)

W=1.620 x 10.045 = 16.273 (kN)

--> 0K

FORUMS8




2.5
2.5.1

@ 48.6x 2.4(STK500)

P

| 11 J
H P X m X f
FD = =
11 11
n X — n X —
12 12
16.273 X 3 X 0.050 2. 441
= = = 2.052 (kN)
270. 000 270. 000
454, 000 454, 000
Fo : 1 (kN)
H : =Px mx B = 2.441 (kN)
1 = 16.273 (kN)
m: =3(C )
B = 0.050
n: =2( )
11 : = (m_]_) X
= (3-1) x
12 : = 454.000(cm)

135.000 =

270.000 (cm)

FORUMS8
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2.5.2
1k 227. 000
SEREE A = — = ——— = 138.770
BREL : 636
7 E xt X 20600. 000
# = = = 97. 700
RIFMRIL A \/o. 6F \/ 0.6 X 35.500
Ik : = 12/(m-1) = 454.000/(3-1) = 227.000 (cm)
1 9. 320
i TR 2U R === = 1.636
TP e e i 5 183 (cm)
| : 2 = 9.320 (cm?)
A : = 3.483 (cm?)
E : = 20600.000 (kN/cm?)
F: = 35.500 (kN/cm?)
A > A
0. 29F 0.29 X 35.500
k = - = —————— = 5.103 (kN/cm?)
i 138. 770
( A ) ( 97. 700 )
fk x A =5.103 x 3.483 = 17.774 (kN)
Fo = 2.052 (kN)  fk x A = 17.774 (kN) --> OK
2.5.3
Fo = 2.052 (kN) = 3.430 (kN) --->0K
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2.6

H 2. 441

F. = 1.220 (kN)

= 1.220 (kN)

2.441 (kN)

2C )

= 4.900 (kN) --->0K

FORUMS8
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